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1. Answer the following as directed : 1x10=10

Aot oI wete frarize bes i :

(a) Name the philosopher whose view was
primarily criticised by G. E. Moore in his
article, Refutation of Idealism.

& 2 J@ = ‘TrRm Y97 IRFS TIO
SICA 391 TS RIPT I
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(2)

(b) What is the fundamental question of Russell’s
logical atomism?

e S RAFE e opacht 2

(c) Molecular proposition is the truth-function of
proposition.
( Fill in the blank )

HRE I/ I T Fop+ |
(N 5 R M)

(d) Write the name of one prime advocate of
Vienna Circle.

fCH1 51 TIPS QIR T forr |

(e) Who wrote the book, Language, Truth
and Logic?
Language, Truth and Logic & (A
o7 R ? ’

() The resemblances exhibited by language
game are called resemblances.

( Fill in the blank )

SR (e TR PG S0 B iy o
(R 5% o7 F)

( Continued )
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(3)

(g) According to Russell, a descriptive phrase is
a simple/a complex/an incomplete symbol.

( Choose the correct answer )

WeR  We  IAEE AW A 9
1 &foa el 2B |
( &% TeIo! AR e )

(h) “‘Language has no single essence.”” Whose
statement is this?
O R GFF AR iR @R BfeTon
I HIRGIRCR ?

(i) Who is the propounder of use theory of
meaning?
T SATOGT ATEF (FH ?

(i) Which one of the following statements is
true?
R (PO O 0% 2

(i) Moore is an idealist.

T R @R S |

() Moore is a sceptic.

T (R @R ST |
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(4)

(iij) Moore is a realist.

qgmiqmﬁwﬁl |

1 i istentialist.
(iv) Moore is an €xi
T R @R Sy |
( Choose the correct answer )

( &% el IR Bferear )

2. Answer the following questions :

ﬁﬁﬁﬁ*32Mﬁ§§3%@3ﬁWT:

(a) What is fact according to Russell?
e Weo oy 2

(b) Write the name of two books authored by

G. E. Moore.
ﬁf.’i.gﬁmwwaﬂmml

(c) Statetwo characteristics of logical positivism.
o E oPRIIE o1 CaPiE BrEy 4| ‘

(d) How many types of description are there
according to Russell? What are these?

Qe o R 49 1 ? CREAR R 2

How did Moore distinguish between ‘blue’
‘the consciousness of blue’?

3 R Fe AE Al 3T o] TS
ool e R ?

(e)

and

2x5=10

( Continued ) 24A/254

(5)

3. Answer the following questions (any four) : S5x4=20

FafiRe e et i (R e sl :

(a) How did Russell distinguish between atomic
fact and molecular fact?
ARIRT ©F IF TIRE S TES I
R i e (ke 2

(b) Write a short note on Moore’s Defence of
Common Sense.

TR R S Y Rycy oo vy Gt forn o

(c) How did Vienna Circle draw the distinction
between strong and weak verification?

o v R e W et oo Twe
M fAele SR 2

(d) Explain briefly Wittgenstein’s view on private
language.

TR IR ORISR Y
TYE 0 |

(¢) Write a short note on ‘Family Resemblance’.
‘oI e’ STeeic «f v O foran 1
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(6) (7))

(d) “‘Every proposition which we can understand
must be composed wholly of constituents
with which we can acquainted.” Discuss in

() How Wittgenstein associated with Vienna
Circle? Explain briefly.

S B Y S (T WS the light of this statement Russell’s concept of

HifRer ? 5L 01 T | : truth-functional proposition.
“UTOIF I QAT T T, TAAH S
i i afefe 3 1”7 WER @)

following questions (any four) : 10x4=40 ReR e
4. Answer the following q iy e
fafiRe epprz Tet f (R e vifker) L’% R Fq 61 A
(a) What are the objections raised by Moore : (e) “A proposition is a picture of reality.”
against idealism? Explain. : Discuss.

oRRre Reta @ wfecn@s & &2 ‘51 5 Coe” Ve o 1”7 s 40 |

I

{f) Do you consider the verification theory of
meaning to be an adequate tool for
climinating metaphysics? Give reasons in

support of your answer.

(b) Give an account of the analytic movement in
the contemporary Western philosophy.

lﬁl ""m“ | © RERTe Semem o9 FER FeT 0T YT SR Teameo! i
? “ 1 SR 2 o TeTq e 3R weefia |
(c) What do you mean by logical atomism? , (g} Explain how Wittgenstein use language as
Explain and examine Russell’s view. tools.
@ N I B @ & orge e TR S R e ke R
SRTOT TS AT SIRCHRT | 9T IREF, IR 9|
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(8)

(h) How does Wittgenstein refute the
philosophical ideas of tractatus? Discuss.

THoRARRE  GIRT T (R
RS 99 IR0 7 SO 4T |

%* %k
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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

frtr IR were frarr e frar:

(a) Do existentialists accept the rationalistic
conception of truth?

SRR ORI YRIE A
FCEC ?

24A/255 ( Turn Over }




(2)

(b) Which of the following stages of existence is
thought by Kierkegaard to be his chosen stage
of existence?

ArfRe SR IR eve @rl &<
Fiacs fred S [{ifes &1 @ s ?

(i) Aesthetic stage
S B

(i) Ethical stage
Afes 1

(iii) Religious stage
SRR
( Choose the correct option )

( % fess MR e )

(c) Does Jean Paul Sartre accept determinism?

<1 o Qe AR PR FCA ?

(d) What, according to Heidegger, is the proper
subject-matter of philosophy?
2faeeRd W i s R

(e) Husserl believes that the object of philosophy
is factual/ideal.
( Choose the correct option )

21l TS T SR ST AT |
(o Resichr ik Sferear )

24A/255 ( Continued )

—— g e

(3)

() *“‘Man is the being through whom nothingness
comes into the world.” Who said this?
( Write True or False )

‘R xR GR 8 I JRN TS Lo
oIz I FARK I (FRA?
( 37 7 =TSy o )

(g) According to Kierkegaard, subjective
knowledge is concrete/ abstract.
{ Choose the correct option )

Fica6e wee, SIS ww T6/Ré |
( wm Rewch fR Bevear )

(h) Name the philosopher from whom Husserl
borrowed the concept of ‘intentionality’.

T TR A RERE’ AR e
RE o wrge FRiEE ?

(i) Who is the author of the book,
Phenomenology of Spirit?

Phenomenology of Spirit SRIa JEFH (¥ 2

24A /255 ( Turm Over )




(4) (5')

() ‘‘By being Heidegger means God’—Is this i
Cratcment tre? (e) Mz:ltlch the following books with their
authors :
il iR a7 w aeRd TPz e o :
Books A Authors
J% LS S
2. Answer the following questions in brief : 2x5=10 () Being and Time 1. Husserl /T
(ii) Being and Nothingness 2. Kierkegaard / 16T
= o o1 i) Phi e
fRafeiRe errmRs (iii) Philosophical Fragments 3. Heidegger / YOI

(iv) The Philosophy of Arithmetic 4. Jean Paul Sartre/S1 7 T

(a) What is eidetic reduction?
3. Answer the following questions (any four) : 5x4=20

6o 91 SRS A 57
frafaRe rer Tet fan (R e wilkbr)
(b) Why did Kierkegaard reject emphasis upon (a) Write a short note on Kierkegaard’s notion of
objectivity? ‘existence’.
Facs TERTeR ovee [ SReR IRk 2 2;“% SR NI R 9 5 G
: |
(c) ‘‘Man is condemned to be free.”” What does (b) What i ¢ ’ :
Sartre mean by this statement? H . ;S : !)hen.omenon according to
usserl? Explain briefly.
“Man is condemned to be free.” @2 EOCE ¢
: e ‘Ao 3 eifsert’
oRes 7/ Tl @iRR? 0 T et 2 v

(c) What, according to Sartre, are the five
obstacles to freedom of man?

ST Fo1 & C3fy forat |
Qe oS TR TR <o e

24A/255 (Turn Over)

(d) Write two basic features of existentialism.
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(6)

(d) What is Dasein in Heidegger’s philosophy?

(e)

()

4. Answer the following questions (any four) : 10x4=40

What are the three existential modes of
Dasein?

zgeaRd wiR ‘Dasein’ P R qm
‘Dasein’¥ ST SE fofer & &2

Discuss briefly Sartre’s concept of bad faith.

Qe PR FRAPR GRAICH! SP S 347 |

Give a brief account of the method of
bracketing of Husserl’s phenomenology.

TR AR TN &SI REca @b oy
qefert fia o

fafRe erre bed i (R coean i)

(a)

24A/255

What, according to Kierkegaard, are the
three stages of human existence? Discuss.

HFR We TR W R W R o
Sl 39 |

( Continued )

(7)

(b) Discuss  Kierkegaard’s  concept  of
‘subjectivity and truth’.

PR whR SRIRvel S oS YRIR
AT SRR |

(c) Explain Sartre’s view about the distinction
- between existence and essence.

Y HIF STPRR 1 Soicd T TS IR
1

(d) Give an account of Sartres’ concepts of
‘freedom and choice’.

et v TRl oF e S qRam
{1 SISIRCE |

(e) What is authentic existence according to
Heidegger? How is it different from
inauthentic existence? Explain.

ey W 3d 4 Awfie Wiy B2 @)
¥y @YY A FAET SR R/ MR
5% 7 I 3 |

(f) Explain Heidegger’s concept of ‘Being-in-the
world’.

TR Tsro-Fe-7Tar’q {ReCs I I |
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(8)

TEefq PAT Te
b A R ©GBR B It

(h) Explain Husserl’s concept of intentionality
Tgefs i TR A ﬁ“sﬁ@ﬁ N ill‘ﬂ. i
l . (40|

% ¥ &
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